
Daily Mains Practice Questions 06-06-2024

GS - II

Government Policies & Interventions

1) State the purpose and measures of AMRUT scheme. Discuss the major challenges faced
in implementing the scheme and suggest reforms.  (250 words)

Refer - The Hindu

 

GS - III

Economy

2) The ‘cure’ of redistribution can prove more harmful than the disease of inequality by
affecting job creation.  Justify (150 words)

Refer - The Hindu

 

GS - III

Economy

3) The participation of women in workforce is increasing, but the gap in leadership remain.
In this context explain the challenges faced by women in the workplace. ( 150 words)

Refer - The Economic Times

 

 

Enrich the answer from other sources, if the question demands.

https://www.shankariasparliament.com/
https://www.thehindu.com/news/national/an-overview-of-the-amrut-scheme-explained/article68230075.ece/amp/https:/indianexpress.com/article/explained/why-indian-armed-forces-will-shift-to-integrated-theatre-commands-9348371/
https://www.thehindu.com/news/national/does-inequality-lead-to-growth-explained/article68244378.ecehttps:/indianexpress.com/article/explained/explained-global/norway-ireland-spain-recognise-palestine-state-9350192/
https://economictimes.indiatimes.com/jobs/hr-policies-trends/percentage-of-women-in-senior-leadership-roles-increases-to-18-in-2023-from-16-in-2016-report/articleshow/110558382.cms?from=mdrhttps://www.thehindubusinessline.com/opinion/reforms-needed-in-agriculture-research-system/article68212412.ece
https://www.shankariasparliament.com/

